
2073

Hyundai Tucson, Kia Sportage

Hex Bolt, M12-1.25 x 35mm, CL 10.9

Conical Washer, 7/16”

Ratchet

14mm, 17mm,19mm Socket

Torque Wrench

Flat head Screwdriver

6

6



INSTALLATION:

1. Use a flathead screwdriver to remove the 4 push fasteners holding the underbody panel. 

2. Use a 14mm socket to loosen the three exposed nuts. 

3. Lift hitch into position and loosely secure it with 6 M10 bolts and 6 conical washers provided.  Tighten 
all M10 bolts to 48 ft-lbs.

NOTICE:  Lowering of exhaust might be needed.  Always ensure the exhaust is supported to prevent 
damage.


	Slide 1
	Slide 2

